Find π(2) for Problem 14-24.
In Problem 14-24, Set up both the vector of state probabilities and the matrix of transition probabilities given the following information: 
Store 1 currently has 40% of the market; store 2 currently has 60% of the market. 
In each period, store 1 customers have an 80% chance of returning; 20% of switching to store 2. 
In each period, store 2 customers have a 90% chance of returning; 10% of switching to store 1.
SOLUTION 
The few requirements of transition probabilities matrix are 

· All probabilities no greater than unity and all probabilities are non-negative.
· The sum of the entire row is unity.

· Non zero probability of staying in present state
                                Store 1    Store 2
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((2)  (0.38, 0.62).
